CBSE Class 12 Chemistry Compartment Question Paper 2020 (September 24, Set 1- 56/C/1)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D. There are
37 questions in the question paper. All questions are compulsory.

(i11)  Section A — Question nos. 1 to 20 are very short answer type questions,
carrying 1 mark each. Answer these questions in one word or one sentence.

(111) Section B — Question nos. 21 to 27 are short answer type questions, carrying
2 marks each.

(iv) Section C — Question nos. 28 to 34 are long answer type-I questions, carrying
3 marks each.

(v)  Section D — Question nos. 35 to 37 are long answer type-1I questions, carrying
5 marks each.

(vi) There 1s no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of two marks, 2 questions of three marks and
all the 3 questions of five marks. You have to attempt only one of the choices in
such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators and log tables is not permitted.

SECTION A

Read the given passage and answer the question numbers 1 to 5 that follow : 1x5=5

A large number of simple molecules called monomers combine together
by the process of polymerisation to form a macromolecule called polymer.
If the repeating structural unit is derived from one type of monomer, the
polymer 1s called homopolymer. If the repeating structural unit 1s derived
from two or more monomers, then the polymer i1s called copolymer.
Homopolymer and copolymer may be formed by addition or condensation
reaction. In view of the general awareness and concern for the problems
created by the polymeric solid wastes, certain new biodegradable

polymers have been developed.
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1.  YTehiceh SgcTeh i Teh IGT8L T |
2.  FARIYM Teheleh o Sgciehd H o4 Sgcieh ohl HTeHT GIf<T |

3. @ t+CH, - CH (CgHy) 1, U HHagS & AT Hgagaish ?

4. Sl W F Uk aTedl (AH-7Eh) |d8 & 99 % oY 9gH Sgcieh 1 M
18T |

5.  Sia-HHTehfE SgcTh o1 Teh IGEL ST |

Y97 &I 6 & 10 TF Jee FTiT 5 / Ix5=5
6. TohEl &eh o IehU ohl 1’ fefd W e+ § THiHd Sehrs ol 91 dTsy |
7. U UH Hid T 380 TARgu 598 9 | Ush 319 qiierg 8 |

8.  Ufcrew, UHUeH 3R Gl W § 39 HiHH HYLeh 6l yga™ hitaw fS8eht yam
Fd gug HeE FEfEm i g auen 2 |

9.  Hgdl H¥ed o HIY HieK ATciehdl H UEdH hl YNk hilT |
10. 39 d9 i sqiev fed At 99 9 H8d s9d 2 |

Y97 G&I7 11 & 15 TEIaHe919 597 & | 1x5=5

11. 3 uifeafaai o, Ufella 1 SsUAR ek N N-SEHISUMH o 31fiehd
T I T 34T UTed BT & | ThF 3c91e <hl T3=HT 3

(A) (CHy)y—N<o»NH-<o)
(B) CHz <o )»N=N-o) NH,
(€) OH<o)»N=N<o)

(D) (CHg)y-N<o»N=N<o>
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1. (Give an example of a natural polymer.

2. Draw the structure of the polymer formed by the polymerisation of

monomer chloroprene.

3. Is tCH,; - CH (C;Hy)+,, a homopolymer or a copolymer ?

4. Name the polymer used for coating non-stick utensils.

. Give an example of a biodegradable polymer.

Question numbers 6 to 10 are one word answers. Ix5=5
6. Name the unit formed by the attachment of a base to 1’ position of sugar.

7. Write an example of a sol 1n which a solid 1s dispersed in the gas.

8. Out of alitame, aspartame and sucralose, identify the artificial sweetener

with which the control of sweetness is the major concern.

9. Predict the change i1n molar conductivity with the decrease in

concentration.

10. Name the temperature above which micelle formation takes place.

Question numbers 11 to 15 are multiple choice questions. 1¥%h=0

11. In cold conditions, aniline 1s diazotized and then treated with
N,N-dimethylaniline to give a coloured product. The structure of the
coloured product 1s

(A) (CHg)y-N <o )»NH<o>
(B) CHz <o )»N=N-o) NH,
(€) OH<o)»N=N<o>

(D) (CHg)y-N—<o»N=N<o)
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12. TSEY ohl IR | shis SIa-THHeh ATHHAT TFa= hi T8 A TUThAT <

3T 10~ 6 min~! 9rR—m T | Afe @ ATHTRAT TSTSH A1 IufEdtd °H 9rad <Rl
ST, o JATHishAT sl B, (Eishavt 3Hil) =1 41 g 2

(A) <@ @

(B) 106 min~1 ¥ 31Yeh & SATW

(C) 10~ 6 min~! ¥ H=Tar g STe

(D)  3ATehg YA H&l &, E_ (Hisha0 1) hl Tk &1 shl ST Hehdl @

13. O TS + 3 HHT SATaHIhLU] AT G &, 37Uq Ce + 4 STTEAT ST
8, Fifh
(A)  IE Icpte T AMNT—=mE gred htd <kl il T@dT 2 |
(B) 98§ UHEd-Rie A TAeH! @l § |
(C) 8 1 AR Sl TBUT h{d <hl Jgitl Wl @ |
(D) ' $8h 6sH Ush WA Sciaid &rdl g |

14. ffafeg-d ® S Tfverft sfoeamm fyten & ufa waifes
fufshamsiict & 2
(A) CH, =€H-Cl
(B) CgHs—ClI
(C) CH,CH =CH-ClI
(D) CH,- CH, - CH, - CI

15. g1 9= 97q Y] @ dTel] 37956 8

(A) T
(B) THIREL
(C) HHLEL
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12. A biochemical reaction was carried out in the absence of enzyme and the

rate of reaction was found to be 10— ° min—1. If the same reaction is now
carried out in the presence of enzyme, then the E_ for the reaction will

be

(A) same
(B) greater than 10~ % min—1
(C) lower than 10— % min—1

(D)  Data insufficient, K5, cannot be predicted

13. All the lanthanoids show + 3 as the common oxidation state, yet Ce
shows + 4 state because

(A) 1t has a tendency to attain noble gas configuration.
(B) 1t has a variable 1onization enthalpy.
(C) 1t has a tendency to gain 1 more electron.

(D) it has an unpaired electron in 6s.

14. Out of the followmg, the one which is most reactive towards nucleophilic
substitution reaetion 1s

(A) CH,=CH-Cl
(B) CgHs—Cl

(C) CH,CH=CH-Cl

(D) CH,-CH, - CH,-Cl

15. The ore having two different metal atoms 1s

(A) Galena

(B) Haematite
(C) Magnetite

(D)  Copper pyrite
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Ty7 &A1 16 G 20 & 670, 31 &7 130 10 § 577 vk &1 SAf9aaT (A) 79T 37
&1 ST (R) ZTRT 3lhd f&ar =7 § | 37 991 & @gT 3w 4749 130 70 HiET (i),
(i), (iii) 3R (iv) T @ GAF G0 : 1x5=5

(i)  ABI (A) 3T RO (R) AT F&l HAF &, 3 HRU (R), HHHIHA
(A) <h! T&l ATSIAT 8 |

(i) AYHT (A) IR RO (R) qHI #& HIH &8, W< dr0 (R),
IR (A) hl Tal AT g7 2 |

(iii) AUHYT (A) F&l 8, T HRUT (R) TTeTd I 2 |

(iv) 39 (A) TAd 7, 9 HRYT (R) T& HIF 8 |

16.  3¥FI7 (A) : Gt 319k @iel & |

FRU(R):  JATEH UH WHA Bd & o8 91q @l AEHl AR AT99E €9 9
e feram ST GehdT B |

17.  3719%9 (A) : SF, ! TA-3qied fRIT ST Hehdl 8 <ifehd SF <l a1 |

HR (R) +_SF,H IUCAYd B8 F o THIY heald S THY] T H,O % ATHAY
T Th1EE 3c9d hid & |

18. 37YFI7 (A) : FARIhA Ueh IYHSEISE AfTep 2 S g6 gfaan ° Iufedra g
g |

PRI (R):  FARIT%A H Fe BIdT 8 S FARIT%eT s &L U h ol ITErl 2 |

19. 37YHYT (A) : T GHN TG GeIHM Tl Ucehdl shl ol H Ucehlgiall o
FIYTh I BMd 7 |

HRU(R):  Ucehigidl H IqU-HU[h BSSINH AEY Bl & |

20. SIYFHIT(A): ¢ AT U fota= hT HiAdT a9 sk 91Y Idlidd ardl & |
FRU(R):  d9 ° qiadd & 919 fae™q 1 37™a9 gigfdd giar g |
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For question numbers 16 to 20, two statements are given — one labelled

Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (1), (i1), (ii1) and (iv) as given
below : I%5=0

(1) Both Assertion (A) and Reason (R) are correct statements, and
Reason (R) 1s the correct explanation of Assertion (A).

(11) Both Assertion (A) and Reason (R) are correct statements, but
Reason (R) 1s not the correct explanation of Assertion (A).

(111) Assertion (A) 1s correct, but Reason (R) 1s incorrect statement.

(1v)  Assertion (A) 1s incorrect, but Reason (R) 1s correct statement.

16. Assertion (A) : All ores are minerals.

Reason (R): Ores are minerals from which metal can be extracted
conveniently and profitably.

17.  Assertion (A): SF, can be hydrolysed but SF; cannot be.
Reason (IY) » " Six atoms of F in SF; prevent the attack of H,O on the

central S atom.

18. Assertion (A) : Chlorophyll is a coordination compound which i1s present
in green leaves.

Reason (R):  Chlorophyll contains Fe which is responsible for the green
colour of chlorophyll.

19. Assertion (A) : Alcohols have higher boiling point than alkanes of
comparable molecular mass.

Reason (R):  Alcohols have intramolecular hydrogen bond.

20. Assertion (A): Molality of a solution in liquid state changes with

temperature.
Reason (R): The volume of solution changes with the change in
temperature.
- .56/G/1 9 . TG
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21. TG B & IcAh o ToTC foeq-379eed | Ted IcaTgl shl Ik hifolT @ I1x2=2
(a) Pt 3ciarel % A1Y CuSO, 1 S faea
(b) Pt 3cAaeISl o |19 AgNO, 1 ST Toera

YA

2 A ToRIq 910 g/ Fe3* & 3 AIAl sl FeZ*+ T {UdId hid o TTC Tohdd TehuI
hl STTEgIhdl T ?
(feam T 8 : 1 F = 96500 C mol1) 2

22, forertHAT oh1 gftaTivg ShIfSTT S 3kl foeladT o YR 9 38 ifiehd hIfolT | 2

YT
WA Bl IRYTNG RIS 3R 3kl 37IfUeh 3TTohid o STMYR W 3= difichd
1T | 2

23.  3cEW ad 8T, Yl 3R forEshidt § feorvg shifog | 2

24.  [CoCly(en)y]* o SATTHATT THIEFET shi TTEHT SHTET | 2

25. o TEoRreh ! RHIiNd <At qon forelt gom shife <h1 Stfwfshan s forg am

e 3R 319-311Y 1l o HEY U d9Y ST | 2
26. THHIIRGd 91q3Tl o MY o TGl hl TG GINT - 1x2=2

(a) Cu

(b)  Si

27. frfaRad e sl § sEyfma soiagl i e ufefea HIf
Mn3+ 3R Cr3+ (Y] 3RHTS : Cr = 24, Mn = 25)

$TH 9 hIA-9T ST TIa3 § Halieeh TArfl 3 AR =1 2 2

- .56/G/1 10
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SECTION B
21. Predict the products of electrolysis in each of the following : I%4=2
(a)  An aqueous solution of CuSO, with Pt electrode
(b)  An aqueous solution of AgNOg with Pt electrode
OR
How many seconds does it require to reduce 3 moles of Fe3* to Fe?+ with
2 A current ? (Given : 1 F = 96500 C mol—1) 2
22. Define vitamins and classify them on the basis of their solubility. .
OR
Define proteins and classify them on the basis of their molecular shape. 2
23. By giving example, differentiate between antiseptics and disinfectants. s
24. Draw the geometrical 1somers of [CoCly(en),|™. 2
25. Define rate constant and give the mathematical relation between rate
constant and half-life period for a first order reaction. 2
26. Outline the principles of refining of the following metals : Ix2=2
(a) Cu
(b)  Si
27. Calculate the number of unpaired electrons in the following gaseous 1ons :
Mn®* and Cr3* (Atomic number of Cr = 24, Mn = 25)
Which one of them 1s most stable in aqueous solution and why ? 2
56/G/1. 11 P.T.0,
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28. 0-:002 M UHIfIh 31T shl TTeTehdl 8 x 10° S em=1 8 | 3T HIK Teiehdl Ud
foasa 9 (o) dferfaa s afe wfifes s/ & @ A, &1 7@
390-5 S cm?2 mol~1 & | 3

29. Ush YAH whifd <hl AT 1 a7 O+ 49 x 103 51 8 | 39 A
U AlhRs Hl 4g HET bl 9 3¢ 89 H Tohadl THI m 2

llog 4 = 0-6020, log 3 = 04771} 3
HAAT

Hh!H 1 AA-3TIEEH TR TE™Hh GHIHU gRT HEUd BId1 8
C1oHy501; + HyO (3MMEe) — CxH; 506 + CgHipO0g

STYTh THIHLUT o (oTT, JTIRE hITIT :

(a)  3Tifuaehdl

(b) '~ =Rl

(c) | 7fueprehl 3R IcUTGl o dgH | ATHHAT T A 1x3=3

30. ST <hifole, =T J&IUT BT e
(a) IAESIAIA | ¥ Togq 9™ Jartgd shl Il g,

(b)  Ueh SHEIM ohl 3TYchel fehdT SATAT &, 3TN

(c) ASQSS% cb\c»ﬁ'ss?r i | Fe(OH),q EIPIBSIGH % | I1x3=3
31. SRS 3R H K,Cry0, o Tot=q # 9gd aft =@un <hl T qHtehu

Higd SATEAT hifT | 3
32. [T ?flﬁlE :

(a) W AIHHS 1 fo=T el A€ § T T8y,
(b) Ufeshd goise gaid Bid gU ot 9 H AHH &, AKX
()  FARIBIH T HSRUT YUId: Hl g3 &l T Sidctl § fordm SIrdm 2 | 1x3=3
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SECTION C

28. Conductivity of 0-:002 M acetic acid is 8 x 10 S em~1. Calculate its molar
conductivity and degree of dissociation (o) 1f /\(’;I1 for acetic acid 1s
390-5 S cm? mol1. 3

29. A first order reaction has a rate constant 4-9 x 10> s~1. How long will 4 g
of this reactant take to reduce to 3 g ? [log 4 = 0:6020, log 3 = 0-4771] 3

OR

The hydrolysis of sucrose 1s represented by the following chemical

equation :
C1o0H950711 + Hy0 (excess) - CcH,150, + CcH150¢

For the above equation, predict

(a) molecularity,
(b)  order, and

(c) rate of reaction in terms of all the reactants and products. I%3=3

30. Explain, what is observed when

(a)  current ispassed through colloidal sol,

(b) an emulsion 1s subjected to centrifugation, and

(c) colloidal sol of A8283 1s mixed with Fe(OH)S. I1x3=3

31. LExplain all the steps along with the chemical equation which are used 1n

the preparation of K,Cry0O~ from chromite ore. 3

32. (Give reasons :
(a)  Grignard reagent should be prepared under anhydrous conditions,

(b)  Alkyl halides are immiscible with water although they are polar,
and

(c) Chloroform 1s stored in dark coloured bottles filled up to the brim.
Ix3=3

P T4
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33. THHfciiEa stfyfshaneat # fHidd g& 3curgl shl =T g 1x3=3
O
NaBH,
(a) iI:I—CH2—(‘3“—O—CH3 >
O
H,0, H"
(b) HCHO + CH;MgBr >
CH, H N
(C) O/ 205 S
HAAT
(a) ARG ®YAUT GHIH hIoT : Ix2=2

(1)  IdH & qUA-2-31d
(i) S~ FAES § Aol Uoshlgid
(b)  THFfciRad AEhl sl 3IAhl IFcild HHSY & S¢d §C A H FEd
ﬁﬁm : 1
4-HIAHHAA, HHEA, 4-AT8eSHIA
34. CHyNH,, (CH,),NH T (CHg);N <hl 9g=H s foiq Teh foIfer =p1 99 shifry |

Hag 3Tafshanstl o Tov e g ot fafae | 3
QUE
35. (a) TIHIIRGd Scadl i TEAN I918T 1x2=2
(1) Sl cSasS ol 2,4-DNP
(i) U9 39y
(b) THAfIRGd F¥AYI qUi HIfT 1x2=2
CH,CH,
(1) > ?
KOH, ST
CH,COCI
(11) > 7
f5ie AICI,
56/G/1. 14

@
&collegedunla;
India’s largest Student Review Platform

—



op0;
I
e

33. Write the structure of the main products formed in the following

reactions : Ix3=3
i NaBH
(a) é—CHz—(‘J‘—O—CHg ‘s
O
(b) HCHO + CH,MgBr H0, 5
(© O/CH3 H,0, H+}
OR
(a)  Carry out the following conversions : %o=2

(1) Propene to propan-2-ol
(11)  Benzyl chloride to benzyl alcohol

(b)  Arrange the following compounds in increasing order of their acidic
strength : 1

4-Methylphenol, Phenol, 4-Nitrophenol

34. Describe a methed for the identification of CHqNH,, (CH3),NH and

(CH3)gN. Also write the chemical equations for the reactions involved. 3
SECTION D
35. (a) Draw the structures of the following derivatives : IxI=2

(1) 2,4-DNP of benzaldehyde

(11)  Propanone oxime

(b)  Complete the following synthesis : IX2=2
CH,CH,

KlV.[IlO4
(1) > 7
KOH, heat
CH,COCI
(i) @ > 7
anhyd. AlCl,
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(c)  IHIcT shl TULT HISIRIIcTeh 3T T T+ & | giee il | 1
SOC

(a) C,HgO, 3UEA ol fohHl hEiHeh Mk ‘A’ I a9 Hy,SO, ¥
JA-ITI T hid W Ueh hIal[FdcTeh 3T+ ‘B’ 3T Ueh Ucehlaidd ‘C UTed
8T | ‘C’oh TSie ® wfiF 3R ‘C < SATaH1ehol § Y4: ‘B’ UTed gU | ‘A’
‘B IR ‘C’ hl 9§ hio@ IR Tag ANRAAT o fow g

GHIh{T TARIY | 3
(b) 39 WA vl Aeaferfiga Aifert 7 8 gfafda s 2 I1x2=2
i) T
(i) T
36. (a) TmafafEd & fow i fefgu - 1x3=3

(i) TR A Th fgaiehl 31 2 |
(i)  HyO i 37ue H,Te hl 3TFA1d Jehid 37eeh B |

(iil)  UISTF hacl Ueh ATFHISTTA oG] 7 |

(b) * THEATIREd FHTHIUT Ul I I1x2=2
@) XeEq+ 2H,0 >
(i) /I, + 3CL, >
()
3Tt
(a) TIHIRGd T T0=F & 94 Toid TUedi o JAIER T8l hH H
COCIER| cﬁfvm . I¥d=a

(i)  F,, Cly, Bry, I, (3794 {adSH TAeHl o 9¢d §C A H)
(i) HF, HCI, HBr, HI (37+c{i¥ |2 % s@d gC A H)

(iii) H,0, HyS, HySe, HyTe (3ATeY vl o ©ed §Y A H)

(b) T=tafgd hi 9=T F418T I1x2=2
(i)  XeFg
(i)  H,S,0-

PH R YR HIS RS Y Ha SR Y H S TH Y I HY
= A
14 -
u ]
= ¥
) F
3 +
o | Z
- x
| %
AR T HYCH TS B | I A | YR I T A Ui 1 W e T
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(c) Carboxylic acid 1s a stronger acid than phenol. Justity. 1
OR

(a)  An organic compound ‘A’ with molecular formula C,HgO, was
hydrolysed with dil. H,SO, to give a carboxylic acid ‘B’ and an
alcohol °C’. ‘C’ on dehydration gives ethene and ‘C’ also on oxidation

gives back ‘B’. Identify ‘A’, ‘B’ and ‘C’ and write the chemical
equations for the reactions involved. 3

(b)  How will you convert ethanal into the following compounds ? Ixg=3
(1) Ethanol
(11) Ethane

36. (a) Account for the following : I%5=3
(1) Sulphurous acid is a dibasic acid.
(11)  H,Te possesses more acidic character than H,O.

(111) Fluorine forms only one oxoacid.

(b) ~ Complete the following equations : I1x2=2
(1) XeFzr+ 2H0 >
(1)1, + 3Cl, >
(excess)
OR

(a)  Arrange the following in the order of property indicated for each
set : IX3=3

(1) F,, Cly, Bry, I, (increasing bond dissociation enthalpy)

(11) HF, HCI, HBr, HI (increasing acidic strength)
() Hy0, HoS, HySe, HyTe (decreasing order of bond angle)

(b)  Draw the structures of the following : IX2=2
(1) XeF¢

(i)  H,S,0-
P.T.O.

@
&collegedunla;
India’s largest Student Review Platform

—

CHANESTHYCH IR TR HE W TR B WA TR AR TR AR TR

. -

x 1

£ =

Ed Hy

Y —

T =

: | - | ;
: = ?

: 2

G W TR T S TR H S T W T R T H W T s TR ] iR TR

T2 R T R T W = SR TR e T o i TS e i T i T ] Bl T ] it T T Pl T ] P T Ml TR Pl TR



(=] e [w]
(=]

37. (a) 10 oW 31 35k Q1 AN T 3g@ HIT | 2

(b) TpHr 3amasiial fadd &1 5% I [9eaq s9R—T =1 37 28T 373 K
U 910 GT6 745 mm I T | 39 d9 W g ST bl 9159 g1F 760 mm

2 | foera &1 Hier geaue uftesfod hifs | 3
EPEN

(a)  3TMe 3 3F[ES I ¥ @ 3T S | 9

(b) 100 g A H NaCl (M = 585 g mol~1) <hl Teha1 HIET HTeAT ST Toh 3k
fgHTeh H 2 K 1 3791 8l ST ? el o T K= 1-86 K/m 2 | 3

PH R YR HIS RS Y Ha SR Y H S TH Y I HY
B =
u ]
= ¥
) z
3 +
2 | Z
3 E
B =
CHARE T HYCH T B T I BT R i ee | P RO 1A e T Y
CHEPE = TR S TRYCH A R TR H IR T YO T R Y 30T R ST O S TR H IR TR YCH I TRYCH A VS TRYCH I MR TR Y H A VTR
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37. (a) State Henry's law and mention its two applications. 2
(b) 5% aqueous solution of a non-volatile solute was made and its
vapour pressure at 373 K was found to be 745 mm. Vapour
pressure of pure water at this temperature was 760 mm. Calculate
the molar mass of solute. 3
OR
(a)  Give two differences between 1deal and non-ideal solutions. 2
(b)  Calculate the amount of NaCl (M = 58:5 g mol~!) that must be
added to 100 g of water so that freezing point is depressed by 2 K.
K¢ for water 1s 1-86 K/m. 3
56/G/1 19
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